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BEAR A TIRYT  EFIR HOUT % ok K Kk ok
EIN * R EEE

IN—TDEt

JIE 4L K £ 1 2 3 4 GROSS HDGP NET
1 |Hp F 42 46 88 19.2 68. 8
2 |ME =N 43 41 84 14.4 69. 6
3 |FEH Fif 47 49 96 24.0 72.0
4 [FE8 A 39 44 83 10.8 12.2
5 [IhE 48 40 88 15.6 712.4
6 [#% JEA 4] 40 87 14.4 712.6
T |R#&t 1= 51 47 98 25.2 72.8
8 18K HBx 44 42 86 13.2 712.8
9 1% =ZEiE 49 43 92 19.2 72.8
10 &% F= 43 42 85 12.0 73.0
11 |5HE i 62 52 114 40. 8 713.2
12 [MA 2% 44 45 89 15.6 713.4
13 | AR #4 42 41 83 9.6 73.4
14 |7 SR 43 40 83 9.6 713.4
15 |[db% =8 42 41 83 9.6 73.4
16 |[AR fFX 42 53 95 21.6 713.4
17 [fAll] IER 45 43 88 14.4 73.6
18 |dtE L= 44 44 88 14.4 713.6
19 |8 #E 51 49 100 26. 4 73.6
20 &M BhES AR 35 41 76 2.4 73.6
21 |B& & 46 48 94 20. 4 73.6
22 |saiE [5E] 40 42 82 8.4 713.6
23 [lUX == 43 45 88 14.4 73.6
24 | KE #H= 41 40 81 1.2 73.8
25 WX HRE 41 40 81 1.2 73.8
26 (Al REBE 38 43 81 1.2 73.8
27 |+ B 44 42 86 12.0 74.0
28 [B# &= 41 39 80 6.0 74.0
29 (B4 #F0Al 46 46 92 18.0 74.0
30 [#8H Zah 42 38 80 6.0 74.0
31 |[&H IE#H 43 43 86 12.0 74.0
32 |fBlR | A 40 39 79 4.8 74.2
33 |&EBy  BEF 49 42 91 16.8 74.2
4 |5 173 46 45 91 16.8 14.2
35 |F FH 49 48 97 22.8 74.2
36 |[EH Mz 40 39 79 4.8 14.2
37 |k 46 44 90 15.6 74. 4
38 |2 EfT 46 50 96 21.6 74.4
39 |HEME —4T 47 49 96 21.6 74. 4
40 [shl) B&E— 41 37 78 3.6 74. 4
41 [lbx  sig 40 38 78 3.6 74. 4
42 [k &iE 37 41 78 3.6 74.4
43 1%k F—H 39 39 78 3.6 74. 4
44 |BHF HZ 53 42 95 20.4 74. 6
45 (dbRE MEX 40 43 83 8.4 74. 6
46 (feiE EHE 42 41 83 8.4 74. 6
47 | K% iz 45 44 89 14.4 74. 6
48 |MA Eif 47 53 100 25.2 74.8
49 [N HPF 49 51 100 25.2 74.8
5 [IZE X— 40 42 82 1.2 74. 8




51 (& 3Pm 46 42 88 13.2 74.8
52 |t #E 43 45 88 13.2 74.8
53 |H9 it 44 38 82 1.2 74.8
54 |HE FEA 47 41 88 13.2 74.8
55 [iER =& 44 44 88 13.2 74.8
56 |HELEF KHE 43 45 88 13.2 74.8
57 |&HFIIl A 49 44 93 18.0 75.0
58 |& BEBE 48 45 93 18.0 75.0
59 |&HE Rl 44 43 817 12.0 75.0
60 |#H FH 46 41 817 12.0 75.0
61 (AR fBE 44 43 817 12.0 75.0
62 |f&8H H— 44 43 817 12.0 75.0
63 | LA # 51 48 99 24.0 75.0
64 |REWF X 48 45 93 18.0 75.0
65 (85 & 50 54 104 28.8 75.2
66 | EHEF 47 45 92 16.8 15.2
67 |[BXx = 45 41 86 10. 8 75.2
68 B4 HEX 44 41 85 9.6 75. 4
69 |F#& IETE 46 45 91 15.6 75. 4
10 [FAR B 39 40 19 3.6 75. 4
n |Ri|s HF 42 43 85 9.6 75. 4
12 |REFE =7 40 39 19 3.6 75. 4
13 |XHA #B= 42 42 84 8.4 75.6
T4 NE =— 45 o1 96 20.4 75.6
75 (& 1§= 43 47 90 14. 4 75.6
16 |FFB =HKF 98 96 114 38.4 75.6
77 |&J BEF 45 45 90 14. 4 75.6
78 |&iR HEf# 90 92 102 26.4 75.6
19 (B #X 57 50 107 31.2 75.8
80 |[AR #F 92 43 95 19.2 75.8
81 |FE fRE 55 46 101 25.2 75.8
82 |mkRE F3 92 43 95 19.2 75.8
83 [l K7 51 43 94 18.0 76.0
84 |#kJR FHHt 45 43 88 12.0 76.0
85 |EH RR’A 52 47 99 22.8 76.2
86 |dtF IES 90 49 99 22.8 76.2
87 | R 41 40 81 4.8 76.2
88 |MTA R— 47 46 93 16.8 76.2
89 |luH  BE 54 45 99 22.8 76.2
90 |FAR FESE 46 4] 93 16.8 76.2
o1t |kl K 46 40 86 9.6 76. 4
92 |KE AZX 90 48 98 21.6 76. 4
9 |EEm E— 52 46 98 21.6 76. 4
94 |FH MF 98 92 110 33.6 76. 4
95 [ EA 51 47 98 21.6 76. 4
96 [AIH E# 48 43 91 14. 4 76. 6
97 |5i% B8R 42 43 85 8.4 76.6
98 |#xE ER5A 48 49 97 20.4 76. 6
9 |BAX &‘E 48 42 90 13.2 76.8
100 |FH X& 48 42 90 13.2 76.8
101 |fA[R I8t 49 53 102 25.2 76.8
102 /Il &REF o1 45 96 19.2 76.8
103 |& RE 42 41 83 6.0 11.0
104 |Fh ERF 93 48 101 24.0 77.0
106 |2 H9 44 45 89 12.0 71.0
106 |iED BA 52 95 107 30.0 71.0
107 |Fh <H= 44 o1 95 18.0 11.0
108 (BtLE Erd 40 43 83 6.0 71.0
109 | KAKZR #F= 45 43 88 10.8 11.2
110 [RAR FHKF 52 94 106 28.8 11.2




" |20 %= 51 43 94 .8 11.2
[RVARE1:: 49 51 100 .8 11.2
13 |BH #FX 49 50 99 .6 11.4
114 | X2 HiE 47 46 93 .6 11.4
15 |5Z#E EF 46 53 99 .6 11.4
116 |RE Bx 49 49 98 4 11.6
N7 | f5% 43 49 92 4 71.6
18 |AEft /F 48 44 92 4 11.6
19 [P —m 50 47 97 2 71.8
120 [BE %F 49 48 97 2 71.8
121 |K B5 46 45 91 .2 71.8
122 (489 RA 48 43 91 .2 71.8
123 |REA K=EB 47 49 96 78.0
124 4 & 46 90 96 78.0
125 |EBA B 62 52 114 78.0
126 |KF %% 90 46 96 78.0
127 B Fi 41 43 84 : 78.0
128 |3E &HZ o1 44 95 .8 18.2
129 B & 95 52 107 .8 18.2
130 |=4 B+ 08 49 107 .8 18.2
131 |&iR &% 48 47 95 .8 18.2
132 |5 E=x 92 48 100 .6 18.4
133 |FA 85 46 48 94 .6 78.4
134 (K BERE 44 90 94 .6 18.4
135 |mE Bk 45 48 93 4 78.6
136 |JIE TAF 90 43 93 4 18.6
137 | # 49 44 93 4 78.6
138 st KA 49 49 98 2 78.8
139 |4 ERF 60 55 115 .0 79.0
140 |MA+ FF 46 o1 97 0 79.0
141 |80 &\ 56 51 107 .6 79.4
142 |H9 Sk o4 93 107 .6 79.4
143 |#2# &k 51 50 101 .6 79.4
144 | RH# HRF 90 o1 101 .6 79.4
145 B &=X 59 53 112 4 79.6
146 |[ZH M= 99 47 106 4 79.6
147 &)l B 46 47 93 2 79.8
148 |[EHE A 99 o1 110 .0 80.0
149 AL /IMX 49 49 98 .0 80.0
150 | KR4 &=F 93 90 103 .8 80. 2
151 |#E  F4CHE 46 51 97 .8 80. 2
152 | KR & 49 o4 103 .8 80. 2
153 |2X [ 46 51 97 .8 80. 2
154 |ixE —E 48 42 90 9.6 80. 4
155 | HE ERAI 45 51 96 15.6 80. 4
156 [/NEF & 57 96 113 32.4 80.6
157 [ K& AxF 57 62 119 38. 4 80.6
158 |&& 45 49 94 13.2 80.8
159 |k HEA 53 59 112 31.2 80. 8
160 [K# FEEH 49 44 93 12.0 81.0
161 |ty B 58 53 (AR 30.0 81.0
162 |&3 fEEA 93 o1 104 22.8 81.2
163 |BkE & 51 52 103 21.6 81.4
164 (& £EF o4 95 109 2].6 81.4
165 |FK &EF 49 47 96 14. 4 81.6
166 =W RE 47 67 114 32.4 81.6
167 |AIl =&5F o4 92 106 24.0 82.0
168 |4t FHid 52 53 105 22.8 82.2
169 |Aaf HE 47 98 105 22.8 82.2
170 [RfE #EEHK 12 50 122 39.6 82.4
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